EAS UN Http://www.china-easun.com

ESCCH# S EL(FREX )

n BEGRZ

ESCC — 50 x 50 — O — LB
T T T
P ElE R
Iﬁr%n{fr Mounting Type
#J5/Model  Diameter 782 BRSEHE ZA: g*?’!
SR stroke QTY of cylinders Blank:Basic

LB:EIEEER
Type LB:Front and Rear Fixation
FARTEZ
FA:Front Flange

Series—wound

n #FS m

ARITMEEL1Z H40mm, 7578 4100mm, REKSEHE D2, XABEERRHN
| Ll | RERKASE, HEBNITBERRSA:
K /ﬂ/ [ ﬂ' ESCC-40x100- 2-LB

u O SMEERERS

A+2S
B C+2S
E F G U+S G1 U+S G
4-0

-
;
\

|V R Z19H - (S TR R i R R ﬁ&% 72:'7 L —»
A A @- A
& & L/ &
N _|Q Q Q Q_N 8-LiEM/Depth M
#s
InﬁnIi%Dia. Code A B © D E F G G1 H | J
32 233 47 186 28 32 15 28 56 22 17 6
40 235 49 186 32 34 15 28 56 24 19 7
50 243 57 186 38 42 15 28 56 32 22 8
63 249 57 192 38 42 15 28 56 32 22 8
80 289 75 214 47 54 21 33 66 40 30 10
100 301 75 226 47 54 21 33 66 40 30 10
R Code K L M N o P Q R s T U v w
Inner Dia.
32 M10X1.25 M6X1 11 15 G1/8 5 6.5 6.5 46 33 37 12 10
40 M12X1.25 M6X1 11 15 G1/4 6 6 8.5 51 37 37 16 14
50 M16X1.5 M6X1 11 15 G1/4 7 5 9 62 47 37 20 17
63 M16X1.5 | M8X1.25 9 14 G3/8 7 5 10 75 56 40 20 17
80 M20X1.5 | M10X1.5 15 17 G3/8 7 5.5 11 94 70 41 25 22
100 M20X1.5 | M10X1.5 15 17 G1/2 7 9 11 112 84 47 25 22

HERITRES AR AKR



